7. The anomalous magnetic moment of the election / muon

effective legrengion for non-relativistic (NR) electrons and soft (qt << m) phonous:

$$L_{\text{eff}} = \chi + (iD_0 + \frac{\vec{D}^2}{2m} - eg\vec{B} \cdot \frac{\vec{\sigma}}{2})\chi \qquad \text{low-relativistic QED}$$
(NRQED)

Ignoring the effect of hard (eliz is) withal particles we found g = 2Now we'll compute the effect of hard withhall particles by computing the amplitude for a NR electron scattering off a foft mergretic field in QED and NRQED and adjust g such that the results match.

To determine g, we only need the Spin-dependent part.

The amplitude in QED

We only need to include the effect of hard book moments. Fince we common 9t << l, in we may put $9^2 = 0$ in 95 T t u. Since $F_1(0) = 0$, the only correction comes from $F_2(0)$.

$$U:=\begin{pmatrix} 1\\ 0 \end{pmatrix} \qquad \hat{q}, \hat{k}=O(U), \hat{q}, \hat{k}^{\circ}=O(U^{2})$$

$$u(p_{\lambda}) = \overline{\lambda}u(\frac{\xi}{\lambda}) \qquad \qquad \lambda = O(v)$$

$$A_{n} - u = m(tt_{n} - 1) + k = \begin{pmatrix} 0 - \vec{k} \cdot \vec{\sigma} \\ \vec{k} \cdot \vec{\sigma} - 2un \end{pmatrix} + O(v^{2})$$

$$(\mu_1 - \mu_1) \mu = 0 \Rightarrow \overline{k} \cdot \overline{\sigma} - 2 \mu \lambda = 0$$

$$u_{s}(p_{n}) = \sqrt{2u} \begin{pmatrix} \xi_{s} \\ \frac{1}{k} \cdot \vec{\sigma} \\ \frac{1}{2u} & \xi_{s} \end{pmatrix}$$

Since we consider the scattering off a magnetic field, we med the special components:

$$\tilde{u}_{n_2}(\tilde{p}_{\ell})(-ie g^m) u_{s_n}(\tilde{p}_n) = -ie \quad u^{\dagger} \int_0^0 g^m u$$

$$= (\underbrace{u}_{n_2}(\tilde{p}_{\ell})(-ie g^m)) = (\underbrace{o}_{n_0}(\tilde{p}_n)) = (\underbrace$$

$$= -ie 2u \left(\xi_{n_2}^{\dagger}, \xi_{n_2}^{\dagger} \frac{(\vec{k} + \vec{q}) \cdot \vec{\sigma}}{2u} \right) \left(\sigma^{u} \frac{\vec{k} \cdot \vec{\sigma}}{2u} \xi_{n_1} \right)$$

$$=-ie\cdot\xi_{n_{2}}^{\dagger}\left[\sigma_{m}\vec{k}\cdot\vec{\sigma}+(\vec{k}+\vec{q})\cdot\vec{\sigma}\sigma_{m}\right]\xi_{n_{2}}$$

The Contribution from F2 (0):

ūounu = eunj zu s, ojs, =

$$\left(\frac{1}{3} + \frac{1}{3}\right)_{\text{spin dependent}} = e^{-\epsilon^{n} m j} q^{n} \tilde{S}_{n_{2}}^{\dagger} \sigma j \tilde{S}_{n_{3}} \left[1 + F_{2}(0)\right]$$

The n is $(1+F_2)$ is reproduced in NRQED by g=2=3 $g=2\left[1+F_2\left(0\right)\right]$

Compute F2 (0)

 $f_2(0) = i \theta e^2 u^2 \int_0^2 dx \int_0^2 dy \int_0^2 dz \, \delta(1-x-y-z) Z(1-z) \int_0^2 \frac{1}{D^2}$ where now

$$\int_{\ell} \frac{1}{(\ell^2 - M^2)^3} = i (-1)^3 \int_{\ell} \frac{1}{(\ell^2 + M^2)^3} = -i \frac{M^{-2}}{(4\pi)^2} \frac{\Gamma(3-2)}{\Gamma(3)}$$

$$= -\frac{i}{(4\pi)^2 M^2} \frac{1}{2 \cdot 1 \cdot \Gamma(1)} = \frac{-i}{(4\pi)^2} \frac{1}{2 M^2}$$

$$F_{2}(0) = i \cdot 8e^{2} \frac{-i}{2(4\pi)^{2}} \int_{0}^{1} dx \int_{0}^{1} dy \int_{0}^{1} dz \delta(1-x-y-z) \frac{z}{1-z}$$

$$= \frac{x}{\pi} \int_{0}^{1} dz \frac{z}{1-z} \int_{0}^{1-z} dy = \frac{x}{2\pi} = 0$$

$$g - 2 = \frac{\infty}{\pi}$$